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1. Find the sum,

6 (©) 7,53,43
@ 268754+ 137975 (o) 407,682 + 2'52'::9 +2,87438 + 2:73%
() 392,854 + 375,604 + 1,57,346 i 41;4'567 +9,305 + 25000
() 6,08,027 + 3,97 568 + 2,87,115 (g) 6%

ited ¥ 1,52,600 more

2. Mr Bhatia had % 3,70,495 in his account. He depOSi';e:is account now? on N
T 2,64,750 on Friday. How much money is there

3. Find the missing digits.

(@) W% o B

LTthhHTO

4. Estimate the sum by rounding off to the nearest 100. Then check the result byﬁmh
the actual sum.

(a) 46,316 + 3,17,956 (b) 4,21,832 + 5,36,122 (€) 7,29,818 + 64,481
5. Find the sum of the largest 6-digit, 5-digit, 4-digit and 3-digit numbers,
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1. 246,710 people casted their V¢ 85,920 people casted their ‘

1. Complete the following addition sequence.

w(_J+s=n o4+ )=
D+50=130 40+©=110
D+500=1,300 400+D=1,10°
()« s000=13000 a0 +(___ )=1100

2. Choose two numbers from
the box which add i
the boxes. Take help of the solved example. up o the ghven S S S

438 724 132 56
(b) | 1435 1,325 1,705 1,825
ChEaE
,

3. Fill in the box with the number which makes the given equation true.

+ 22,051
P = 67,198 + 35,246
+2,43,650 = 3,50,625 + 2,33,650





